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Qwjytinig  h°G;  htnwynpmpjul JYpuw £ qulgnd S

puqiwwunlty 10%-ny:

Ytwnp:

Muunwufuwlp

NuuyGjulhg h°Gs htinwynpmpjuG Ypw t quGynyd S -h wwnltpp hwjting:

NuuGyuyhg p°G; htnwynpmipjul Yypw YJuuowgyh S Ytwmph wyuwwmlbpp wnpguo

hwiwlwpgniu:
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(65-68) Nnnuéhqg yYtp nmniwd 910> JA  qupjuompjuip  hwdwubn
Leyupwiwl nuyunmd gunuph Jhtwymd wwhmd &6 2 o j
tpyunnipjudp dhyniuhs wiyphn dnnh oSwyphG wipwgywd 0,3 Yq ol
quiqwony UL 2107 U (hgpny qlnhyp: nnh wqun  Swypp !
hnnquijwwny wipwgdwd L hnphgnGuwywl hwppmpjwlp: Uygpnd
dnnG mnnudhgh htan Yuqimd £ ¢ = 60° waymG: Uquun wiydwb
wpwqugniip 10 A% E:

65 | Nppw”G L Eiupulwl nuywh Ynndhg qlnhyh ypw wqnnn ndp:

66 Q-Gnhyl wquu wpdwytinig htnn, nppw G wuwwmwbp b jumwpmd LEjupuunwmhy
nuwpwp, UhGsl wjG ywhp, tinp dnnG wiglnd £ mnnudhq nhppny:

67 | Nppw”G t qlnhyh wpwgnipniGp énnG ninnuéhq nhppny wgGtjhu:
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68

69

Nppw”G £ dnnp jupdwG nidp, wyG ninnuidhq nhppny wlgGhihu:

q thgpny dwuGhyp v wpwgmpjudp 2updynwd £ B hGymlghwjmy hwiwubn nuymnid:
{wunmwintp Jud dfunmbip httnlywy wlnnuiGtpn:

1.

UwqGhuwul nupwb wjn dwulhyh ypw Jugnh LoptlGgh ndny’ Fr=qvBsina ,
npubin o -G V-h b B-h juqiwd wiljniGa k:

Lnptlgh nidh nunnnipjniln npnpynid £ uguwGuwhwGh Juinbny:

LnptklGgh nidh Juuwpwo w)fuwwnmwlpp hwjwuwp b jhgpwynpjwo dwuGhyh
YhGtnhly EGpghwjh thnthnfunipjup:

UwqGhuwywl nguwyund  popwlwqony pwpdynn  dwulGhyh  wyuwpumdiwl
wunppbipnipniGG ninhn hwdtidiwnmww6 £ dwuGhh wpuwgmpjulnp:

bnniyghwjh qotiph Guwmdwdp pnip whlyjwl nwl dwqlGhuwyuwl nu)um dnlbhu
lhgpwynpuo dwulhyp pwpdyh hGnniyghwjh qotphl ninnuhwjwg ninnnipjudp:
NMuwpnypuqony  wpddthu - wwpnypugdh  pwjyp  Ywjugwo L dwubhyh
wnpwqgmpjul L hGnniyghwjh qotinh uquwo wiyjnilhg
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70

{wunwwntp juwd duntp htinlywy wyGnmuGepp:

—_

e

Qtpiwjhl dwnwquypnuil fayumpuwiwglihuwul dwnwquwjpnid L:

Lywlwnbbpp dwuGhyGbp GG, npnlp ny dhwjl dwnwqujpynid, wjl mwpwoynid b
Y bynu 66" yuwhwywlbny hpkGg wihwwmwlwGnipjniln:

bnunGh hdwyniup upbih b onpn2tp p = A4 pwlwdlng, nputn h-p MuGyh
hwunwwnni GG £, A-G (niyjuh whph GpupnipniGn:

Lnyjuh wgntignipjudp dtmwnhg ynyywo dwubGhybGtnh thgpp npuiju t:
bnunnttyumpnGlitph  wowybjugnyyG YhGtwnpy tGipghwl Ywpujwo L niyyuh
nidqlnipjnilhg:

Giph wpuwunwlpl wjl GJuquagnyl wfuwwnwlpl L, np wywhwloymyi L
ELityunpnGp dEnwnhg wynytint hwdwnp:
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